
SAP ABAP table COMC_ISX_PR_TEXT {Long text for FICA product}

COMC_ISX_PR_TEXT

CLIENT [CLNT (3)]

PRODUCT_TYPE [CHAR (2)]

TEXTOBJECT [CHAR (10)]

TDID [CHAR (4)]

COMC_PR_TEXT_P

CLIENT [CLNT (3)]

PRODUCT_TYPE [CHAR (2)]

TEXTOBJECT [CHAR (10)]

 COMC_ISX_PR_TEXT-PRODUCT_TYPE = COMC_PR_TEXT_P-CLIENT 
{0,1}

1  COMC_ISX_PR_TEXT-TEXTOBJECT = COMC_PR_TEXT_P-PRODUCT_TYPE 
{0,1}

1 T000

MANDT [CLNT (3)]

 COMC_ISX_PR_TEXT-CLIENT = T000-MANDT 

0..N
0..N

TTXID

TDOBJECT [CHAR (10)]

TDID [CHAR (4)]

 COMC_ISX_PR_TEXT-TDID = TTXID-TDID 

0..N

0..N


